
1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F1:1

10402

 
LCGT.10411-01

23-01-12
G. Gennaro
R. De Salvo














A2

di Gennaro Gianni

mK
 


 


 


PROMEC



516 1 EN 6082 1:4
485 2 EN 6081 1:4
472 1 EN 6082 1:2
471 2 Ertalon 1:4
467 4 EN 6082 1:1
466 2 EN 6082 1:4
465 1 EN 6082 1:4
ref. pieces material scale

   
   
   
 Updated 11-02-12

modifications
ref. note date

   
   
   
   
   
   

ref. draw. legend

35
100 57,5 10057,5

35

17,5 17,5

271 158

700

465
M8x1.2520 n°4

M10x1.52212,5

35
35

155 155

M8x1.2520

17,5 17,512,518.512

600

485

30

67,5 565

700

30

5,5 5,5
10,516.510

466

30 12

552

20 10

6

26 100x5 5,310.56

471

25
25

90

60

M8x1.25 - 6H

10,516.510

472

20

30
27

40

6,310.57

467

LCGT-SAS
DETAILS FRAME-Gr.14

145

110

20

210

20

M6x1 - 18 n°4

221 158

35

35

700

155 195 195

271 158

17,5 17,5M8x1.25 - 20 n°3

M10x1.5 - 25 n°212,5
12,5

516


